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1. Introduction

This contribution suggest that we should add a blocking requirement of 10 MHz offset signal to S4.01 A UE spesification. The motivation is similar as what we have in uplink direction with 2nd adjacent channel leakage power definition. NOKIA has proposed this addition to S4.01A spesification also in contribution TSGW4#2(99)038.

2. System rationality

It is introduced in [Ericsson, TSG4#1(99)001] that the UE receiver filter selectivity needs to in the order of 30 dB to guarantee tolerable capacity loss for adjacent channel WCDMA signal (see below figure). This means that in case wanted signal is 3 dB above the sensitivity level (i.e. under thermal noise level), UE should be able to operate when ~ -69 dBm (-99dBm
 + 30 dB) adjacent WCDMA signal is present 

It should be noted that the new simulations of downlimk ACIR might introduce a new requirement for receiver filter selectivity. Presented values should be revised when new results are availble.
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In case one base station includes 3 carriers (see below figure), the UE filter selectivity needs to be somehow tighter for #2 and #3 carries i.e. the total attenuation for three carriers needs to be ~30 dB.  
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S4.01Av0.03 proposal requires that that in band blocking level is –44 dBm for 15 MHz or higher frequency offsets from the carrier. According to multioperator downlink simulation this is sufficient requirement (corresponds to about ~55 dB selectivity, -44 dBm – 55 dB = -99 dBm).

S4.01Av0.03 proposal does not require anything for the 10 MHz offset WCDMA signal.  We propose that 10 MHz blocking is tested with – 54 dBm signal (corresponds to ~ 45 dB UE receiver filter selectivity). This should be sufficient requirement to guarantee that system capacity is not degraded.

3. Proposed Text changes 

3.1 7.6
Blocking characteristics

The blocking characteristic is a measure of the receiver’s ability to receive a wanted signal at its assigned channel frequency in the presence of an unwanted interferer on frequencies other than those of the spurious response or the adjacent channels, without this unwanted input signal causing a degradation of the performance of the receiver beyond a specified limit. The blocking performance shall apply at all frequencies except those at which a spurious response occur.

3.1.1 7.6.1
Minimum requirement

The BER shall not exceed 0.001 for the parameters specified in table 10 and table 11 
Table 10: In-band blocking

Parameter
offset
offset
Unit

User bit rate
[12.2]
[12.2]
Kbps

Channel symbol rate
[32]
[32]
Ksps
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[-7 (*)]
[-7 (*)]
dB

Îor
[-107]
[-107]
dBm/4.096MHz

Iblocking  modulated
[-54]
[-44]
dBm/4.096MHz

Blocking offset
[10]
[(15]
MHz

Rate Information
On
On


Table 11: Out of band blocking

Parameter
Band 1
Band 2
Unit

User bit rate
[12.2]
[12.2]
Kbps

Channel symbol rate
[32]
[32]
Ksps
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[-7 (*)]
[-7 (*)]
dB

Îor
[-107]
[-107]
DBm/4.096MHz

Iblocking  tone
[-30]
[-15]
dBm

Blocking offset
[2025<f<2070

2210<f<225]5
[f<2025

f>2255]
MHz

Rate Information
On
On


4. test equipment requirement

· Test setup error to measurement result should be minized. Let's assume the generators contribution to adjacent channel result shall be 0,1 dB maximum.

· Generator adjacent channel leakage power requirement: Generator 2nd adjacent channel leagage power should be –16,4 dBc below thermal noise level at wanted channel to meet 0,1 dB requirement.

· 2nd adjacent channel measurement: -99 dBm –16,4 dB = -115,4 dBm, ACPR2 requirement for test device is 61,4 dB.

� Assuming 9 dB noise figure -->  -108dBm +9 dB =-99 dBm
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